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Solving Sequence

5,11>104—>9—>3—>8->12>7T—>1—>2— 6> C2,C5
Cilp €4 €9 €3 Cg Ci1 Cr Ci2 C1 Cg

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (w® —u® 4.+ 3u? - 1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u% —ud*+ ...+ 3u?—1)

(i) Arc colorings

1
ailz = \0
1
alg = U2
—u
as = \ —u3 +u
—u?+1
ag = \ —yt 4+ 22
ud — 2u
a3 = \u® —3ud+u
ut —3u+1
ag = —ut 4 2u?
wd —bul + Tut — 22 + 1
aia = —u8 4 4ub — 4yt
w'? — a0 + 1768 — 16u8 + 6u* —5u? + 1
ar = —u'? 4+ 600 — 1208 + 8ub — u? + 2u?
u'® — 9u' + 31u'? — 50u'® 4 39u® — 22u8 + 18u* — 4u? + 1
ap = —ul® 4 8ult — 24412 4 32410 — 18u® + 8ub — 8u?t
u?t —13uP + - —6u+1
a2 = \ 20 — 14u?* + ... — 18u* + u?
w0 — 1+ —Tu2+1
ag = \ —u? +10u® + .- —ut + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? + 68u®" + 4u?% — 508u2® — 64u>" + 2184u?® + 444u% —
5960u?* — 1744u?3 + 10836u?? + 4264u>! — 13756120 — 6804u'? + 13416u'® + 7508ul” —
11532u'® — 6528u'® + 8700ut* + 5128u!3 — 5028u'? — 3288ult + 2552110 + 1528u° —
1288u® — 704u” + 328uS + 240u® — 120u* — 44u? + 16u? + 20u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u 42103t - 6u 1
Ca,Cx WPt o+ 3 -1
C3,C4,C9 u35_u34+_._+3u2_1
€10
Cg,C7,CS8 u35+3u34_~_”.+12u+1
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
! Y —13y* .+ 10y — 1
c2,Cs Yy =21 46y —1
C3,C4,C9 y35—37y34+~-~+6y—1
€10
Cg,C7,CS8 y35+47y34++90y_ 1
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape

u = —0.525071 + 0.6950317 —15.9587 — 7.32301 —0.50203 + 5.747201
u = —0.525071 — 0.6950311 —15.9587 + 7.32307 —0.50203 — 5.747201
u = —0.503644 + 0.7008361 —16.0231 + 2.64861 —0.693389 — 0.1514551
u = —0.503644 — 0.7008361 —16.0231 — 2.64861 —0.693389 + 0.1514551
u= 0.512719 + 0.6911061 —12.06160 + 2.316821 2.54987 — 2.830921
u=0.512719 — 0.6911061 —12.06160 — 2.316821 2.54987 + 2.830921
w=0.522839 4 0.5414021 —5.47274 + 5.779371 0.47146 — 7.850521
w=0.522839 — 0.5414021 —5.47274 — 5.779371 0.47146 4 7.850521
u=0.408454 + 0.5692811 —5.82031 — 1.986117 —1.101715 + 0.3330681
u= 0.408454 — 0.5692811 —5.82031 + 1.986111 —1.101715 — 0.3330681
u = —0.459588 + 0.5024051 —2.40665 — 1.737671 3.44724 4 4.366261
u = —0.459588 — 0.5024051 —2.40665 + 1.737671 3.44724 — 4.366261
u = —0.549002 + 0.2767561 —0.34953 — 3.086431 6.48319 4+ 9.611991
u = —0.549002 — 0.2767561 —0.34953 + 3.086431 6.48319 — 9.611997

u = 1.43209 3.32584 2.08830

u = —1.46088 + 0.148701 0.217823 — 0.5206871 0

u = —1.46088 — 0.148701 0.217823 + 0.5206871 0
w=0.495921 + 0.0574161 0.779355 + 0.0407201 13.22367 — 0.769311
u=0.495921 — 0.0574161 0.779355 — 0.0407201 13.22367 4 0.769311

uw= 149978 +0.131021 4.04258 + 3.934481 6.00000 4 0.1

u= 149978 —0.131021 4.04258 — 3.934481 6.00000 + 0.1

u = —1.51928 4+ 0.023261 7.54181 — 0.387201 12.42967 + 0.1

u = —1.51928 — 0.023261 7.54181 + 0.387201 12.42967 4+ 0.1

u = —1.51926 + 0.152901 1.26876 — 8.249917 0.+ 7.123331

u = —1.51926 — 0.152907 1.26876 + 8.249911 0. —7.123331

u = 1.52643 + 0.063111 6.56659 4 4.227891 0. —6.718571

u= 1.52643 —0.063111 6.56659 — 4.227891 0.4 6.718571

uw=1.50999 + 0.232451 —9.45605 + 0.743251 0

w=1.50999 — 0.23245] —9.45605 — 0.743251 0

u = —1.51605 + 0.226481 —5.43016 — 5.652541 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.51605 — 0.226481 —5.43016 + 5.652541 0
u= 1.52333 4 0.229071 —9.25340 4 10.691101 0
u= 1.52333 —0.229071 —9.25340 — 10.691101 0

u = —0.162727 + 0.3813381

—1.53270 + 0.778331

—1.99796 — 0.532081

u = —0.162727 — 0.3813381

—1.53270 — 0.778331

—1.99796 + 0.532081




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u® 210 - 4 6u+ 1
C2,C5 u® 4wt 3 - 1
C3,Cq,C9 WP ot 4302 -1
C10
Cg,C7,C8 u35—|—3u34+~--+12u+1
€11, C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y — 133+ + 10y — 1
c2,C5 Y3 =20y 6y — 1
C3,C4,Co y35—37y34+~--+6y—1
C10
Ce,C7,C8 Y3 ATy 490y — 1
C11, €12




